
















































































































If y is directly proportional to x

then we can write ya x

which means y Kx for some constant t

I metre 23.40 5.85
4

34.30 x 5 24.50

490 x 60
35

840

480 If 720 X 2 x If
I 720 1080 3

Direct Proportion
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42 18 Top

11.28 4 96p

854 3 976g

1560 15 288

Direct Proportion














































































































If y is inversely proportional to x

then y Ig for some constant K

6 people take 4 days
I person would take 4 6 24 days
8 people would take 284 3days

Shortcut 8 people take less time
than 6 people to do the job

4 x 3 days

8days x 2 20 days

10days x Is 8 days

Inverse Proportion





















































































4 hrs x I Jars

33 rooms 32 48 room

9hr5 x33 6 hrs

10days x 15dug

160 XEg 120plants

Inverse Proportion




































































































































































